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QUESTION 1
Which of the following provides the best example of a product risk leading to a project risk?

A. The signalling systems may have more defects than anticipated, leading to the need for more retesting to be carried
out.

B. There may be unexpected lags on the network traffic communication, causing drivers to slow the trains down
unnecessarily.

C. The new development staff may require training for this type of system, which, if not carried out, may lead to an
increase in the number of defects introduced.

D. The budget may need to be increased significantly during the project, otherwise there may be delays in the delivery
of the system.

Correct Answer: A

QUESTION 2
Which of the following activities should be carried out at the start of this process?
A. Marketing of the service to as many people as possible to reduce the risk of poor revenues.

B. Holding a workshop with as many stakeholders as possible to gain their views on the risks to the product and
project.

C. Meeting with the project manager to agree a bigger budget.
D. Meeting with the development manager to agree defect fix turn-around times.

Correct Answer: B

QUESTION 3

Which of the following would be applicable as part of a test policy for testing these types of systems?
a.

Systems must be tested for compliance to industry standard routing protocols.

b.

Testing for the latest upgrade will require testing of increased network traffic of 100%.

C.

Testing for the fix will require the use of dynamic analysis tools.

d.
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Releases will not be made if systems have any high priority defects outstanding.
A

a and b.

aandd.

b and c.
D.
b and d.

Correct Answer: B

QUESTION 4

When creating the functional specification for the temperature control system, which of the following review types would
be most recommended to resolve any issues?

A. A walkthrough.

B. A technical review.

C. A management review.

D. A code inspection.

Correct Answer: B Case Study # 2Scenario

Your organisation is a large media services corporation (MSC). MSC uses Agile development, within a Scrum
framework. Here, the iterations are referred to as Sprints.

For each Sprint, a set of user-stories is defined, built, and tested. The user-stories are typically 1- 2 lines long, indicating
what the customer wants the system to do.

MSC is in the process of updating its website to meet the recently introduced accessibility rules for websites.
Accessibility means the availability of a system suitable to members of the public with, for example, visual or hearing
difficulties.

It has been decided to start with two requirements, as its first 2 Sprints:

1) Presentation of content with clear headings, short sentences, text versions always available.

2) Consistent navigation through the website.

You are the test manager and there are four developers and two testers. You have all worked together previously, and

are very experienced in MSCs products. Although the accessibility rules are new to you and the team, you have all
attended a workshop where they were explained.
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QUESTION 5
Which of the following best describes the difference between the use of walkthroughs and inspections in this scenario?

A. Walkthroughs of specifications would enable the individuals to learn more about the system being developed, whilst
inspections would allow the organization as a whole to improve.

B. Walkthroughs of signalling rules will be more cost effective than inspections.

C. Inspections of code should be carried out by the developers, whilst code walkthroughs should include just the
testers.

D. A walkthrough is an example of a static testing technique, whilst an inspection is an example of a dynamic testing
technique.

Correct Answer: A
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